HfE B /ML AR — b No.04

RS K4

g 1. X,Y, X/7Yl ZAAHERE T 2. ¢X € C(X’X/)7 ¢X’ € C(X/?X)) ¢Y € C(Ya Y/)a wY’ € C(Y/,Y)
ZDWT, (bx,dxr) B X & X DFE FE—lE%, $72 (by,dy) BY ¥ Y OKE b E—FIE

EHATVR LTS, T4DE [Yx]oox] = [idx] 222 [¢x] o [vx] = [dx] &F 5 ((¢y,¢y) B
FIRE).

ZDkE,
a: [Xa Y] - [X/,Y/], [5] — [¢Y] o [E} o [wX’]v
B [XLY' = [X,Y], [n] = [Wy/]on]o[éx]

B, at JIRAWVWCHEGRLIRZ 2Rt

B2 X ={x} %—mZHeL, Y =R\ {0} £33%. 2ot =H4 X/path, Y/path % ZnZNRER X
(FEFIZERE L TXW).

M3 X={2—mZMzL,Y=R\{0} £¥3. ¢, € C(X,Y) 2Zhzh
p(x):=1€Y, P(x):=-1€Y

WEDEDD. ZOLE [P # Y] DI ERE.



